

1) SELECCIONAR



$$\overbrace{2 + 3 \cdot 4 - \sqrt{36}} : 2 + \overbrace{(4 - 3) \cdot 2^2} =$$



$$\overbrace{2 \cdot 5^2} + \overbrace{(6 - 4) \cdot 2} + \overbrace{\sqrt{64}} =$$



$$\overbrace{13 + 2^3} : 2 - \overbrace{\sqrt{16}} + \overbrace{(10 - 5) \cdot 3} =$$



$$\overbrace{(1 + 8) \cdot \sqrt{25}} - \overbrace{18 : 3^2} - \overbrace{(15 + 4)} =$$



2) UNIR CON FLECHAS



$$13 + 2^3 : 2 - \sqrt{16} + (10 - 5) \cdot 3 =$$

62



$$2 \cdot 5^2 + (6 - 4) \cdot 2 + \sqrt{64} =$$

28



$$13 + 2^3 : 2 + (\sqrt{16} + 10) - 5 \cdot 3 =$$

16